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Q.1 1InaAABC calculate mBC

When mAB =6cm, mAC=4cm and mZA =60°

Solution:

Given: In a AABC, mAB =6cm, mAC=4cm and mZA =60°

To find: mBC=?

Calculations:

In acute angled triangle ABC, by theorem 2

4
“

(mB_C): = (muA—C)3 +(mE) —2(};1?8)(1:1@) .......... (1)
In right angle A ACD

mAD

Cos 60° = —
mAC

mAD

1
4 A,

mAD = 2cm

Putting the corresponding values in equation (i), we get

(mBC) = (4em)? + (6em) - 2(6em) (2cm)
(m%)z = 16cm? + 36 cm? - 24 cm?®
(mEE)z —~ 28 cm?

N (;nﬁ)z = 28cm’

mﬁ = 529cm



Q2 In a AABC,mAB =6cm,mBC = 8cm,mAC =9cm and D is the mid-point of side
AC. Find length of the median BD.

Solution:
Givon:
Ina ABC,
mAB = 6cm
mBC =8cm

mA—C =9cm

To Find: Length of median i.e. mBD=? 9cm
Calculations:

By Apollonius' theorem

Ina ABC

(mAB) + (mBC)" =2(mAD) +2(mBD) ........ (i)

AS mﬁz—};mxé

mAD =—(9cm) =4.5cm

| —

Now, putting the corresponding value in equation (i)

-

(6cm)* (8cm)”  2(4.5cm)* Z(mBD)

2

36cm* 64cm’® 2(2@.250m2-)r 2(mﬁ)2
100cm¥*  40.5cm%= 2(mﬁ)2

— 3.9
100cm? —40.5cm? = 2(mBD)

59.5cm? =2(mBD)’
59.5cm’ _ (mﬁ)z

29.75cm* = (mﬁ)2

By taking square root

(mgﬁ)l =/29.75cm?

mBD =5.45cm




Q.3 Ina Parallelogram ABCD prove that (m—A—C)l + (mB_D)2 =2 (m_fﬁi)z +('“E(—")Z
Given: ABCD is a Parallelogram.
To Prove: (m?ﬁ)l (mﬁ)z: 2 (mﬁ)z-k (mﬁ)2

Construction:

Extend AB beyond B. Draw DM L AB and CP L AB extended.
Proof:

| Statements
' In AABC, ZABC is obtuse

(mﬁ)—t— (m@}j— (mﬁ): Z(mﬁ)(mﬁ) ......... (1) | By theorem 1
In AABD, ZBAD is acute

(wBD) = (mAB) +(mAD) ~2(mAB) (mN)
= (B +(mBC -2(B) (B
(mAC)+ (mBD) =2(mAB)+ 2(mBC)

| (mAC) '+ (mBD) =2 (mAB) +(mBC)’

Reasons

By theorem 2

() AMD = BPCie mAM = mBP

By adding (i) and (i1)




